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1) f(x) = 4x% + 6x — x3
2) ) =2+1

3) h(x) =v5x3=5x+10

x%-4

e + 2x

4) f(x)=

5 g(x) = 4x(x — 1)*
6) m(x) = —7x? +%3+ 2

7) h(x) =5x(x—2)+10x— 10

. 8) f(t) =t—5t?

3
9) k(x)=6x2+x—14

10) f(x) = 4(2)* + 1
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1) f(x)=x?>—-4x,-1<x < 6

2) f(x)=2x—5x% 0< x < 4

3) y=x3-3x+1, -2<x<3
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f)=1-—x gx)=2x*—x*+1, h(x) =x3>—x*+2x+1
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1) (F@) +9®

2) x*(f(x)) +h(x)

3)  h(x)+x(g())

4) g&)—hk)

0 v

6) h(x)—x(gx))
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5) g(x) = 4x(x — 1)?
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3) h(x)+x$g(x))

" 7(,-1-ZK_+I-|-7{—(27(——1/ + 1)
,;L }C+2L+’+Z)L L-j—L
= 5! + 3C 3+

) gk

—ZL—)G-;—I —L-)—Z 22X -]

=) 42X -2)C

drasleill gulwl dénio

O v

- (l_z)(,i,—l/ +2C£1) ,
f-mzm-zwc s
= X— ZX--I- —ZL—rL-,—l
6) h(x)- F9®)

_){, X,‘I'Z)(,-I- —-ZL-;-JE-L

= ) i 1/-1-7(.,+I

wuw-asasdedd.com A

(1}




